8'5 U/laj’ Mﬁ%&(/@f ﬁ(’?‘annj

/Fﬂ@@flﬂj a Jrinomrial ¢)(°?+£1;,1/+a;)

A+ bx+ e ¥ Lompletrng
FOIL in
X +5 K+l Reverce,
T7 1~ 1

aA=1 (=6 =6

Sﬁ(w#/ 5/7‘—6(,0 Vour aNSpEr: with
\/N,li' )/3075

— The _mm of the Jpit Hermm tells

you £ the Signg il be e

"Same. (+) or L the siemc

wirll!  he Arferent (/j

—= /£ Lhs Srgm 2~ S /JJ/ /erm
B pﬂfa‘m{ thun the sgns >,

o ' A quanktres /JJ/// @ Jho

e, 00K gt Hw Sion o Yho

2Znol term ‘o See Mf/m% Sho.

£ /'&anw il bheo

EVamples ©  XZ+hp¥ 4 C, = (% + )/7#__/\

A

/
poth Same.

AdAF 1 87 gns Srgns



2 brie = (2-_)(72-

7k

7
P4 /

o Same

T Srgre’

/'941 S

o bae = (1* Dla- =)

/
()//F/E/M =

S /9»/'3

0 I # 2 : Lnd Faetors of ae” that

L //ML{/(L 4 sum of "b” //,;e +He

teble +to_hele <.l]/au

qs I/

Factors 01’3 a4l / Sumof b”

|\ er (/- S
/,u /

"l | 5

,J v S VLQ.:%

. 2.3 5
=23 W
2.-3 -/




% ?wm‘e the 00///70m/a(,

7(+57(+é

Xy B+ LY+

Fhe two faz7ors
* VS«? to  pewide Murdm/ddQ 1 2rm

\/Qfmo #H  Fachr by @muromj

X 1‘3?() t (R rt)
* Groop e hist # _Groys the last

Aterms <L Terms

M Lactor the ECF from eaoh Jroup

/7(°2+57>+ (2746 )

?(/k/x 43\ + R/’/HB’S

StLp #é Kouhde VDMI’ Factored. answer (Pre

C-CFs +3rm \/our Jhis Qu&uu‘/i'u ¥

%/v quanhm ‘fﬁaf regwfs ﬁrms \/oar‘

nd zweuu%u\

— Al713 r 2(x+3)

(X1 IYX3))
N~ T



M * FOIL Fo
aMd<>mUanm0“

(1 2)(#3)

F o ) L

A* + 2% + 3% + &

X T

I Y S
(- +é$v/

A‘l\._.'ﬂrlt"" = )“/




Name Class Date

Practice Form G

3-5

Factoring x* + bx + ¢

Complete.
1. B+ 11k+30=(k+ 5S)k+L_J) 2. x2+6x+9=(x+3)(x+D)
3. A+ 7+ 10=( +2)t+ L)) 4, n*+9n+ 14=(n+7)(n+::])
5. wi4 13w +36=(w + 4)(w + L_J) 6. Y +18y+65=(+ 13)y + LN
7. =125 +32=(s - 8)(s —L—1) 8. g2—14g+45=(g—9)(g—:j)
9. v2—17v+60=(v—12)(v—‘_—]) 10. q2—13q+42=(q—6)(q—|:])
M. &*-9d+8=(d-8)d-L—J) 12 =9 +20=0-5)r-L_J
Factor each expression. Check your answer.
13. Y +5y+6 14. £ +9t+18 15. x*+16x + 63
16. n*—12n+35 17. ¥ —12r +27 18. ¢°—12g + 20
19. w*+ 19w + 60 20. B*—11b +24 21. - 132+ 12
Complete.
22. ¢*+q-56=(q—T)g+L—)) 23 22—32—18=(z—6)(z+D)
24. ' —6n-40=(n+ 4)n-L_J) 25. Y +3y—-4=(+4)y- )
26. V- 5v-36=(v-9)(v+L_J) 27. d+2d-15=(d-3)d+ :)
28. m’—Sm— 14 =(m + 2)(m - ) 29. p2—6p—16=(p—8)(p+ )
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Name Class Date
8 5 Practice (continued) Form G
Factoring x? + bx + ¢

Factor each expression. Check your answer.

30. 72 +3r-10 31w +2w-38 32.7 +3z-40

33.4 - 4d-12 34.p°—Tp-8 35.5% — 55 — 24
36.x*+5x—6 37.v2+3v-28 38.7° +2n— 63

39. 42124 40 a*—7a-18 M. -c-30

42, The area of a rectangular door is given by the trinomial x* —14x + 45. The

door’s width is (x — 9). What is the door’s length?

43. The area of a rectangular painting is given by the trinomial a* —6a—16. The

painting’s length is (¢ + 2). What is the painting’s width?

Write the correct factored form for each expression.

44, K + 4kn — 961 45. g% — 13gh + 424°

47.x* + Sxy — 14y 48.s% + 17st + 720

50. Error Analysis Describe and correct the
error made in factoring the trinomial.

46. m*> — 4mn — 32n°

49. h* + 3hj — 88

x2 ¥ 2x - 80

={x+ 8)(x=1Q)

51. A rectangular pool cover has an area of p* + 9p — 36. What are possible

dimensions of the pool cover? Use factoring.
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Name Class Date

8 Practice Form G

<
Factoring x2 + bx + ¢

Complete.

1.lc2+11k+30=(k+5)(k+E|) 2.x2+6x+9=(x+3)(x+|z|)
3.t2+7t+10=(t+z)(t+|E]) 4.n2+9n+14=(n+7)(n+E|)
5.w2+13w+36=(w+4)(w+E|) 6.y2+18y+65=(y+13)(y+E|)
7.2~ 125+ 32 = (s — 8)(s — [4]) 8.2~ 14g+45=(g—9)g—[5])
9.v2—17v+60=(v—12)(v—lz|) 1o.q2—13q+4z=(q—6)(q—)
11.d2—9d+8=(d—8)(d—|I|) 12.;2—9r+20=(r—5)(r—)

Factor each expression. Check your answer.

13. » +5y+6 14, £ + 9t + 18 15. x% + 16x + 63
Cy +3)y +2) D Cle+oxe+3> O+ 90+
16. n® — 12n + 35 17. 2= 127 + 27 18. % — 124 + 20
QLT S (E TP CRIT
19. w” + 19w + 60 20. b* — 11b + 24 21. 2% — 13z + 12
(w+w+a>  (G-896-3) CE=2= 1>
Complete. ey

2.2 +q-56=(q-7)q+[8] 23.2-32-18=(z - 6)(z + [ 3])
24.n2—6n—40=(n+4)(n—) 25.y2+3y—4=(y+4)(y—lzl)

26.02—5v—36=(v—9)(v+lz|) 27.d2+2d—15=(d—3)(d+lzl)

zs.m2—5m—14=(m+2)(m—) 29.p2—6p—16=(p—8)(p+|Z|)
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Name Class Date

Practice {continued) Form G
8' 5 =
Factoring x4 + bx + ¢
Factor each expression. Check your answer.
30. 2 + 3r — 10 31, w? + 2w — 8 32. 22 + 3z — 40
C(r+5)r—-2) ) (w + 4)(w — 2) (z + 8)z - 5)
33. d® — 4d — 12 34. p> —7n—8 35. 52 — 55 — 24
(d-6ed+2 > (p—8)p + 1) (= 8)s +3) )
36. x> + 5x — 6 37. v” + 3v — 28 38. n® + 2n — 63
(x + 6)x - 1) Cv+nv -4 (0 +90 -7
39. 2 — 2t — 24 40 4> —7a — 18 21.¢> —c =30
(t - 6)(¢ + 4) (@—9)a +2) @ 5
42. The area of a rectangular door is given by the trinomial x> — 14x + 45. The
door’s width is (x — 9). What is the door’s 1ength@
43. The area of a rectangular painting is given by the trinomial > — 6a — 16. The
painting’s length is (@ + 2). What is the painting’s width?(a — 8 )
Write the correct factored form for each expression.
44, k2 + 4kn — 96n> 45. g> — 13gh + 42h? 46. m? — amn — 32n?
Cle + 1200k = 8m)) (g — 6h)g — 7R (m = 8n)(m + 4n)>
47. x> + 5xy — 14y? 48. s2 + 17st + 72£ 49. h”> + 3hj — 88/
o+ T @’9@ (h + 11)(h — 8) )
50. Error Analysis Describe and correct the

error made in factoring the trinomial. X -

e el =
The operation signs are wrong. The answer m
should be (x — 8)(x + 10). — e ]

51. A rectangular pool cover has an area of p?> + 9p — 36. What are possible
dimensions of the pool cover? Use factoring.

-mand(p—3) )
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